SAP ABAP table CRMT PRODUCT I WRK {Item Data Product - Structure: Work Structure}
CRMT PRODUCT I WRK-COMM_GROUP = CRMC_COMM_GRP-COMM_GROUP
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CRMC_COMM_GRP

CLIENT [CLNT (3)]

COMM_GROUP [CHAR (2)]

—_— -
.

CRMT PRODUCT I WRK-PRC GROUP3 = CRMC PRC GRP3-PRC GROUP3
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{0,1} : : CRMT PRODUCT I WRK-PRC GROUP4 = CRMC PRC GRP4-PRC GROUP4
CRMT PRODUCT I WRK-PRC GROUPS5 = CRMC PRC GRP5-PRC GROUP—S ————— 0..N
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\\ CRMT PRODUCT I WRK-PROD PR GROUP = CRMC PRC PRGRP-PRC PR GROUP 0..N

CRMC_PRC_GRP1
CLIENT [CLNT (3)]
PRC_GROUP1 [CHAR (3)]

CRMC_PRC_GRP2
CLIENT [CLNT (3)]
PRC_GROUP2 [CHAR (3)]

CRMC_PRC_GRP3
CLIENT [CLNT (3)]
PRC_GROUP3 [CHAR (3)]

CRMC_PRC_GRP4
CLIENT [CLNT (3)]
PRC_GROUP4 [CHAR (3)]

CRMC_PRC_GRP5
CLIENT [CLNT (3)]
PRC_GROUP5 [CHAR (3)]

CRMC_PRC_PRGRP

CLIENT [CLNT (3)]

PRC PR_GROUP [CHAR (2)]

CRMC_REBATEGRP

CLIENT [CLNT (3)]

REBATE_GROUP [CHAR (2)]
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